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Chapter 2, Page 69, Problem 10

*********************************************************************************************

MAXIMIZE:

5x + 5y 

x <= 100:

+ 1x <= 100

y <= 80:

+ 1y <= 80

2x + 4y <= 400:
+ 2x + 4y <= 400

                             Reduced      Original     Lower       Upper

Variable        Value        Cost         Value        Bound       Bound

x                100          0            5            2.5         Infinity

y                50           0            5            0           10

                Dual         Slack/       Original     Lower       Upper

Constraint      Value        Surplus      Value        Bound       Bound

x <= 100         2.5          0            100          40          200

y <= 80          0            30           80           50          Infinity

2x + 4y <= 400   1.25         0            400          200         520

Solution list ----------

Variable     Status      Value

x            Basic        100

y            Basic        50

slack 1      NONBasic     0

slack 2      Basic        30

slack 3      NONBasic     0

Z            Optimal      750

*********************************************************************************************

Chapter 2, Page 69, Problem 13

*********************************************************************************************

MAXIMIZE: 

3x + 2y 

2x + 2y <=8:
+ 2x + 2y <= 8

3x + 2y <= 12:
+ 3x + 2y <= 12

1x + .5y <= 3:
+ 1x + .5y <= 3

                             Reduced      Original     Lower       Upper

Variable        Value        Cost         Value        Bound       Bound

x                2            0            3            2           4

y                2            0            2            1.5         3

                Dual         Slack/       Original     Lower       Upper

Constraint      Value        Surplus      Value        Bound       Bound

2x + 2y <=8      0.5          0            8            6           12

3x + 2y <= 12    0            2            12           10          Infinity

1x + .5y <= 3    2            0            3            2           4

Solution list ----------

Variable     Status      Value

x            Basic        2

y            Basic        2

slack 1      NONBasic     0

slack 2      Basic        2

slack 3      NONBasic     0

Z            Optimal      10

*********************************************************************************************

Chapter 2, Page 70, Problem 19

*********************************************************************************************

MAXIMIZE: 

3x + 4y

-1x + 2y <=8:
- 1x + 2y <= 8

1x + 2y <= 12:
+ 1x + 2y <= 12

2x + y <= 3:
+ 2x + 1y <= 16

                             Reduced      Original     Lower       Upper

Variable        Value        Cost         Value        Bound       Bound

x                6.6667       0            3            2           8

y                2.6667       0            4            1.5         6

                Dual         Slack/       Original     Lower       Upper

Constraint      Value        Surplus      Value        Bound       Bound

-1x + 2y <=8     0            9.3333       8           -1.3333      Infinity

1x + 2y <= 12    1.6667       0            12           8           17.6

2x + y <= 3      0.6667       0            16           9           24

Solution list ----------

Variable     Status      Value

x            Basic        6.6667

y            Basic        2.6667

slack 1      Basic        9.3333

slack 2      NONBasic     0

slack 3      NONBasic     0

Z            Optimal      30.6667

*********************************************************************************************
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